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Chapter 7: 7-2 Trigonometric Equations Date: “ Period:
Find all solutions of the equation. m
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13. 2 cosx=+3 14. sec?a-4=0
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Find th/est'ﬁWf the equation that are in the interval [0, 2n).
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Approximate, to the nearest 10', the solutions of the equation in the interval [0°, 360°).

25. sin’t-4sint+1=0 26. cos’t-4cost+2=0

27. Many animal populations, such as that of rabbits, fluctuate over ten-year cycles. Suppose that the
number of rabbits at time t (in years) is given by N(t) = 1000 cos gt + 4000 .

(a) Sketch the graph of N for 0 <t < 10. W.' /000
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(b) For what values of t in part (a) does the rabbit population exceed 45007
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